QUARTERLY ISSUES/PROGRAMS

JANUARY, FEBRUARY, MARCH 2015

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File April 10, 2015

WIXO QUARTERLY ISSUES & PROGRAMS LIST 1st QUARTER, 2015 JANUARY, FEBRUARY, MARCH

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

FUNDRAISING SUPPORT

108 Announcements

AREA EVENTS AND PUBLIC RESOURCES

82 Announcements

SOCIAL SERVICE OPPORTUNITIES

WIXO JANUARY, FEBRUARY, MARCH 2015

Bowl For Kid's Sake B	Girl Scouts S	Pottstown Honor Flights V	Peoria Area Convention & Visitors Bureau U	Family Core S	Peoria Area Convention & Visitors Bureau U	PROGRAM E
Big Brothers/Big Sisters Fundraser Support	Support For Cookie Sales Fundraiser	Veteran Flights to Washington D.C. Support	Upcoming Local Events	Social Service With Help For Area Families	Upcoming Local Events	EVENT
45	57	6	38	40	44	# ANNC.
		\$40				PER ANNC.
\$1,800	\$2,280	\$240	\$1,520	\$1,600	\$1,760	VALUE
03/10-03/20	03/16-03/29	03/30-03/31	02/02-02/27	01/19-01/23	01/01-01/30	DATES RAN
25	:3	:60	:60	:30	:60	LENGT

QUARTERLY ISSUES/PROGRAMS

APRIL, MAY, JUNE 2015

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File July 10, 2015

WIXO QUARTERLY ISSUES & PROGRAMS LIST 2nd QUARTER, 2015 APRIL, MAY, JUNE

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

FUNDRAISING SUPPORT

436 Announcements

AREA EVENTS AND PUBLIC RESOURCES

119 Announcements

HEALTH AND SAFETY

WIXO APRIL, MAY, JUNE 2015

PROGRAM	EVENT	# ANNC.	PER ANNC.	VALUE	DATES RAN	LENGTH
Peoria Area Convention & Visitors Bureau	Upcoming Local Events	41	\$40	\$1,640	04/01-04/30	09:
Ambucs 2015	Support For Children In Hospital Care	68	\$40	\$2,720	04/06-04/30	30
Pottstown Honor Flights	Veteran Flights to Washington D.C. Support	75	\$40	\$3,000	04/01-04/25	09:
Honor Flight 2015	Support For Veterans Filghts to Washington	42	\$40	\$1,680	04/13-04/25	09:
Best Buddies Friendship Walk	Local Support For Disabled Citizens	10	\$40	\$400	04/21-04/24	:30
Northside Community Health Fair	Medical Screening And Other Health Support	18	\$40	\$720	05/06-05/16	30
Peoria Area Convention & Visitors Bureau	Upcoming Local Events	37	\$40	\$1,480	05/01-05/29	09:
St. Jude Walk	Fundraiser For St. Jude Children's Hospital	45	\$40	\$1,800	05/14-05/24	30
Cystic Fibrosis Golf Outing	Fundraiser For Cystic Fibrosis Research	45	\$40	\$1,800	05/18-05/31	30
Jammin' For Health	Local Health Fair Screenings & Nutrition	<u>7</u>	\$40	\$560	06/11-06/12	30
Miss Riverbottom	United Way Fundraising Event	69	\$40	\$2,760	06/01-06/17	:30
Peoria Area Convention & Visitors Bureau	Upcoming Local Events	41	\$40	\$1,640	06/01-06/30	09:
Wildlife Prairie Park Old English Faire	Fundraider For Wildlife Prairie Park	4	\$40	\$560	06/25-06/27	5
Wild Knights Fundraiser	Fundraider For Wildlife Prairie Park	12	\$40	\$480	06/25-06/27	33
Rock 'N Roll Up Your Sleeve000	Red Cross Blood Drive	7.1	\$40	\$2,840	06/17-06/30	30
CCF Walk	Crohn's & Colitis Foundation Fundraiser	26	\$40	\$2,240	06/16-06/26	:30

QUARTERLY ISSUES/PROGRAMS JULY, AUGUST, SEPTEMBER 2015

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File October 06, 2015

WIXO QUARTERLY ISSUES & PROGRAMS LIST 3rd QUARTER, 2015 JULY, AUGUST, SEPTEMBER

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

FUNDRAISING SUPPORT

372 Announcements

AREA EVENTS AND PUBLIC RESOURCES

85 Announcements

HEALTH AND SAFETY

WIXO JULY, AUGUST, SEPTEMBER 2015

		CIVINA #	# ANING DED ANING	□ I V /	DATES RAN I ENGTH	FNGTH
エそののように) 		1		
Peoria Area Convention & Visitors Bureau	Upcoming Local Events	42	\$40	\$1,680	08/03-08/31	9:
Children's Miracle Network	Supporting Children's Healthcare Fundraiser	202	\$40	\$8,080	08/05-08/31	:30/:15
St. Jude Walk	Fundraiser For St. Jude Children's Hospital	ω	\$40	\$320	08/01-08/02	30
Peoria Area Convention & Visitors Bureau	Upcoming Local Events	43	\$40	\$1,720	07/02-07/31	30
St. Jude Walk	Fundraiser For St. Jude Children's Hospital	47	\$40	\$1,880	07/20-07/31	30
Michael's Run	Local Fundraiser for Colon Cancer Research	106	\$40	\$4,240	07/04-07/24	30
Rock 'N Roll Up Your Sleeve	Remote Broadcast For Red Cross Blood Drive	4	\$40	\$160	07/01-07/01	09:
Bikers For Ta-Tas 2015	Fundraiser For Breast Cancer Research	တ	\$40	\$360	07/14-07/17	:15

QUARTERLY ISSUES/PROGRAMS OCTOBER, NOVEMBER, DECEMBER 2015

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File January 10, 2016

WIXO QUARTERLY ISSUES & PROGRAMS LIST 4th QUARTER, 2015 OCTOBER, NOVEMBER, DECEMBER

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

FUNDRAISING SUPPORT

835 Announcements

AREA EVENTS AND PUBLIC RESOURCES

123 Announcements

HEALTH AND SAFETY

41 Announcements

Local Charity Support

ы
$\stackrel{\sim}{\sim}$
0
0
$\mathbf{\alpha}$
Ш
回
\geq
ΪŃ
<u>S</u>
_
ď
面
$\overline{\mathbf{\omega}}$
\geq
Ш
>
0
Z
~~
IT.
品
Ξ
\succeq
$\overline{0}$
ŏ

LENGTH.	30/:15	:30	30	:30	:30	30	:30	:30/:15	:30	09:	:30	30	:30	30/:15	9:	:30	:30
														ઌ૽			
DATES RAN	10/01-10/31	10/12-10/31	10/21-10/31	10/07-10/25	11/02-11/14	11/09-11/15	11/01-11/11	11/01-11/30	11/11-11/30	11/02-11/30	11/09-11/30	11/18-11/19	12/15-12/31	12/01-12/31	12/01-12/31	12/01-12/03	12/01-12/04
VALUE \$1.480	\$9,120	\$1,080	\$2,400	\$3,040	\$1,640	\$1,560	\$880	\$8,960	\$2,480	\$1,600	\$2,520	\$840	\$2,200	\$10,320	\$1,840	\$680	\$760
PER ANNC.	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40	\$40
# ANNC.	228	27	90	76	4	39	22	224	62	40	63	21	55	258	46	17	19
EVENT Incoming ocal Events	Supporting Children's Healthcare Fundraiser	Schlorship Fundraiser For All Soldiers & Vets	Local Annual Food Drive	Fundraiser For Breast Cancer Research	Events For Children's Skills & Abilities	Local Annual Food Drive	Schlorship Fundraiser For All Soldiers & Vets	Supporting Children's Healthcare Fundraiser	Provides Support For The Salvation Army	Upcoming Local Events	Disaster Relief For Citizens/Seniors/Veterans	Local Annual Food Drive	Disaster Relief For Citizens/Seniors/Veterans	Supporting Children's Healthcare Fundraiser	Upcoming Local Events	Provides Support For The Salvation Army	Disaster Relief For Citizens/Seniors/Veterans
PROGRAM Peoria Area Convention & Visitors Bureau	Children's Miracle Network	Help A Hero Sports Clips	Stuff A Bus	Pink Promise Casual Day	Junior League	Stuff A Bus	Help A Hero Sports Clips	Children's Miracle Network	Echelon Peoria Red Hot Christmas	Peoria Area Convention & Visitors Bureau	Construction Charities Of North America	Stuff A Bus	Construction Charities Of North America	Children's Miracle Network	Peoria Area Convention & Visitors Bureau	Echelon Peoria Red Hot Christmas	Construction Charities Of North America